counts per hin counts per hin counts per bin

counts per bin

1500.
1400.
1300.
1200.
1100.
1000.

900.
1500.

1400.
1300.
1200.
1100.
1000.

900.
1500.

1400.

1300.

1200.

1100.

1000.
1500.

1400.

1300.

1200.

1100.

1000.

sGRB ver 103a of 2017 June 5 run on 2017-10-30 11:10:33
TO = 531057367.631999 = 2017-10-30 11:56:02.632000
Algr: 1. P03 of FO001: glg_tte b0 171030 _11z vO0O

SO
e e ~
e g S e

1.984 s bins. TO=MET 531057367.631999



counts per hin counts per hin counts per bin

counts per bin

1100.
1050.
1000.
950.
900.
850.

800.
1500.

1400.
1300.
1200.
1100.
1000.

900.
1500.

1400.

1300.

1200.

1100.

1000.
1500.

1400.

1300.

1200.

1100.

1000.

sGRB ver 103a of 2017 June 5 run on 2017-10-30 11:10:33
TO = 531057367.631999 = 2017-10-30 11:56:02.632000
Algr: 1. P03 of FO001: glg_tte b0 171030 _11z vO0O

NEX | Mmr!wﬂ i L m'f;
:E#i% H w—w {_IFLJ'LJWT B s e +~1
:_'|+|i IL|_IF|_U|'-i-|.|.I' i '|_~_|—§-" - j Ifﬁwﬁ' ] rﬁmﬁf:
_H"' . .|.|.||| m | |I+|-\_|-_UI |+|||_-
T T FLH'W N #LPT

1.984 s bins. TO=MET 531057367.631999



counts per hin counts per hin counts per bin

counts per bin

1500.
1400.
1300.
1200.
1100.
1000.

900.

1500.

1400.

1300.

1200.

1100.

1000.

1500.
1450.
1400.
1350.
1300.
1250.
1200.
1150.
1100.

1500.

1400.

1300.

1200.

1100.

1000.

sGRB ver 103a of 2017 June 5 run on 2017-10-30 11:10:33

TO = 531057367.631999 = 2017-10-30 11:56:02.632000
Algr: 1. P03 of FO001: glg_tte b0 171030 _11z vO0O

28 to 539 keV

:

27 to 539 keV I

4ﬁf'wmwmmm rhmmﬂm TN,

£
=
&

26 to 538 keV

-20 -10 0 10 20
1.984 s bins. TO=MET 531057367.631999




counts per bin

counts per hin

3000.

2000.
4500.

3500.

2500.

sGRB ver 103a of 2017 June 5 run on 2017-10-30 11:10:33
TO = 531057367.631999 = 2017-10-30 11:56:02.632000
Algr: 1. P03 of FO001: glg_tte b0 171030 _11z vO0O

1 1 1 1 1 1 1 1 1 1 1 1 1 1
113 to 2120 keV BO
g Ml o SRS RTENUNE] i PO ST SO~ U0 o VI = B
T T LTS R S = R AR N R S = o e i T
T T T T T T T | T T T 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1 1 1
105 to 2121 keV B1
= L | IO N S EU g I ! R o o N o = B M -—l—r}
Il —|—|L|J|ﬁ—|_|_|| LI B B | o = g T IL|_| L"I
T T T T T T T | T T T 1 1 1
-40 -30 -20 -10 0 10 20 30 40

1.984 s bins. TO=MET 531057367.631999



